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Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Fill that bubble in front of that question number, on bubble sheet. 1Ise marker or pen to fill the bubbles. E€utting or
filling two or more bubbles will result in zero mark in that question. No credit will be awarded in case Do not solve
questions on this sheet of OBJECTIVE PAPER.

Q.No.1 ‘ 2 BY .. PA
(D log, x willbeequalto . : & Esls . log,x (D]
log, x log, z log, x . log, y, |
(&) log, z (B) log, z ©) log, y (D) 1og x
’ a® -5 .ise ual to . 4 a’ -t
PP APA
@ q ‘E ®
(A) (a-b)? (B) (a +b)? (©) (a+b) (DY (a-b)
€) Find m so that x*>+ 4x + m is a complete square: Wi bl SEx? + dx + mdLad/ U m &)
(A) 8 (B) -8 (C) 4 (D) 16 '
) The square root of a?—-2a +1 is: e Bhui¥at-2a+1 (4)
(A) Z(a+1) B) t(a-1) C) (a-1) D) (a+1)
(5)  x =0 isasolution of the inequality ’ e KoL, el fx=0 - (3
(A) x>0 (B) 3x+5<0 (C) x+2<0 (D) x-2<0
©) * Which ordered pair satisfies the equation y = 2x? ?4..51)4_5!; Ly =2x ahl-Bilyf 6.
(A) (1, 2) B) (2, 1 © (2, 2) D) (& 1) i
(7 A triangle having all sides equal is called: -c‘-JU«.f ux/.iz.él,i‘f{,uklu:?'iuewbﬁ (7)
(A) Isosceles #Uisls () Scalene Lusuiai® (c) Equilateral Qusiiii- ) Square &,
(Z‘S)v Congruent triangles are also ; alngt S S (8)
G 4 (A) Parallel ¢»# (B) Similar .7 (©) Different.i® (D) Concurrent &5
9 Ina pgrallelogram diagonals intersect each .-ujZ..:/(‘fc,crr"J S pnkinltiensn O
other in the ratio ; - '
(A) 1:4 (B) 2:1 (C) 1:3 _ D) 1:1
(10)  The right bisectors of the sides of an acute _ s34 S oLt Copn L ekt sime  (10)
triangle intersect each other . - :
(A) Inside the triangle sa1 L e (B) On hypotenuse s
(¢) Outside the triangle Lt (D) Onbase Lok -
(11)  How many lines can be drawn through two points? ' e él? g;f(}ﬁ & b .( 1) |
(A) One i () Two  » (c) Three (p) Four 4
(12) A parallelogram has vertices. Wy Ltwngarog (12)
(A) 6 B) 2 : (€) 3 (D) 4 A ’ v
(13) The right bisectors of the three sides of a triangle are oy b L L (13)|
(A) Congruent S (B) Collinear w4 (C) Concument®  (p) Paralleldi”
14 2 2 6 (14)
(19 If l =0, then x isequal to e dls X I =0/
3 x . %
@ 9 o ® -6 © 6 . ®) -9
(I5)  Real part of 2ab(i + i) is: e o8¢ 2ab(i + i ) A (15)" '
(A)  2ab (B) -2ab (C) - 2abi (D) —2abi
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NOTE: Write same question number and its ~&{on gﬂ.‘»/,‘ﬂff ié o) /‘71:! / dlr(ﬁ:/ Qfdl:’- O
parts number on answer book, as given in the question paper. h
SECTION-I Jsio .

2. Attempt any six parts.

12=2X6

- linge §4 22y

(i) | What is meant by Symmetric Matrix? S R, 2ol
1 -2 0 7 . L 0 7 ' -9 S
(ii) If A:‘:3 4}and B:[—3 8:| find In B=|:_3 8}”/1:_3{'3 4]/, ("‘i.i)
24' - 3B ; S 24" - 3B _
(D) | Simplify (V5 - 31)° (V5 - 302 g 2 | G |
i B ; 8 3 , )

i Simpli 3,’—— A—— S
(iv) plify > V727 gL )
N\ Find the value of 'x' logg, 8= % logg, 8 = % gleedd )
(vi) | Calculate the log; 2 x log, 81 logs 2 x log, 81 -y Jrseddiits (v,i‘)A
L) If x=+/3 +2 then find x+—1— _g[fr,b/;,g‘j x+l P x;ﬁ+2ﬁo ()

X X , .
(viii) | Reduce the following rati;)nal expressions to IR P i itn (vi’ﬁ).
" | the lowest form: w (x.+y)2 —4xy
(x-y) (x-y)? ol
(iX) | Factorize 3x — 243x° 1 3x — 243x° . S6A (ix)
3. Attempt any six parts. 12=2X6 «c‘.{/./ -«Ui’f.liligdf 34U
(i) | Use factorization to find square root 1 2 1 3 (1)
L 2 _1‘ \ 1 2 Tg = E xy + Ey i(:l”d/}luodf)‘lﬁ
16 12 36 _ ) : -‘
(ii) | Define linear inequality. YAy IW; G

i) | . -2 : — 2 NG
2 Solve the equation ¥-2 7 " -1 % = ;. x.2 = -1 .gES =i (i)
(iv) | Verify whether the point ( 5, 3 ) lies on the ‘_,_g by 2x—y+1=0 FU(5,3) S LT ‘(jy)

line 2x - y+1=0 ornot. ! , s SRS :
|

) | Draw the graph of x = 2. _é‘;r_}lfx =2 (‘f) ‘
(vi) | Find the distance between the points 4(2 —6), B(3, ~6) -2 gLt )

A(2’ "‘6)’ B(3s—6) o
(vii) | Define equilateral triangle. L Ew S SN (vii)
(viii) | What is meant by S.A.S postulate? Sest pf e sr b P it (viii)
(ix) | Find x° and y° in the given figure. -y x° LT HeL (ix)
75° xoAY° ,40 xo/,é"
(é’—fJJJ )
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(2)

L ;1. Attempt any six parts. 12=2X6 Mpy-) 1’§¢£//U“”£’7”°d’(“4/d"’
‘ Detine bisector of an angle. SEw ol i { (1)
Is given lengths are sides of a triangle? 3cm, dem, Sem Surdtedt U T Y ; G1)
3em, 4¢cm, Scm e
Define Ratio. Ay Aoy (m)
What is meant by congruent triangles? ?‘LJ‘/&J/C-'UWJ = | (iv)
» Des:ribe converse of Pythagoras theorem. Eop e bt | (V)
T Fi ey ' ~ MRS
| Find the,va?ue of 'x x[ ;2 em x[ ;2 em BEPT N A
Bl Iom , l cm
i) | Define area of a figure. E S B (vii)
Construct a-triangle 4BC in which Rt ABC e | (Vill)
4 m‘A‘B=4.2cm, MBCZS'?cm’ A= b m;1—1§=4.20m, mEE:3.9cm, mCA=3.6cm
Define incentre of the triangle. E IS innLei| (X)

PR

- 24=8X3

SECTION-II

E» 2

-4 /Jlr..:;.//uu;’é_aulru. ey s

NOTE Attempt any three questions. Question No.9 is compulsory.

¢ |olrianglé are concurrent.

5.A) | Solve by using the Cramer’s rule. E P il LS s |
d 1 2x=2y=4, -5x—-2y=-10 = |
R ' 2x -2y =4, -5x-2y=-10 |
“ it
; iof ot 2m 27\ 2¢ 2m 2:1 () i
e a a a a a -
i Slmprl'fy [ &+m J [ me+n ) ( n+t J [ l+m J [ m+n ] [ n+{ ] éﬂ! i
T \a a a a a a
Use logarithm to find Val;UC of 2.709 x Z/]T /r WS ATy ‘
i . . -J J‘b ol s AJ/ 8’,’ (J‘)-() ‘
/2709 x Y1.239 7
If a*+b%+c?=45and a+b+c=-1, a+b+c==1sa’+bi+c?=4501] (L)
| then find value of ab + bc + ac . gl edd ab + be + acix
; F‘actori;Ze by factor theorem. -2 - 5x 46 FEUF S e | (LT
= 2x%w5x+ 6 . !
: ;[:s: glswilznl ;nethozc:1 to1 ﬁn1d6thl"e square root. - WSS Ly K2 i | ()
4 +25x°%12x - 24x° &
o R T eI R 4 + 25x - 12x - 24x> + 16x*
,.Solve the ineqdalities. -5< 4 —23x <1 P —23x <l ySSSoim g | (-8
) Constmctatnangle XYZ and draw their I el S XYZ el | (L)
| | medians. — — o ’
mXY== 4.5¢m, mYZ 3.4¢m, mZX 5 6cm | MXY=4.5cm, mYZ=3.4cm, mZX = 5.6cm
i Tf’rove that: the bisectors of the anglés of a _u'/z..r.b'(wL u:’muf/_/-uif'u/fafuL _i;

OR

L1 o

e Prm&e thatmangles on equal bases and of
equal altitudes are equal in area.

Lf-uuur/'/(/laul/ﬂé_ﬁb s’:gf\j"l/u/f,fé
Jur/!//f
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MATHEMATICS (SCIENCE GROUP) GROUP-IT
TIME ALLOWED: 20 Minutes
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e 20 = &5
~ MAXIMUM MARKS: 15 OBJECTIVE &*3* 2 p)T-n.0 r 15 = AS

-g’j;)/{;ﬁ&//h:’?f‘)ﬁb’d(b‘../_.._.af.r?o»’ﬂ:.u:fu’/'l)ﬁié-)&i/&d’r/:/,d'((}!:Z-Q_YZ’%)D/)IC&@A s:awﬂ;«f/t_gédb’ﬁ -t

- .'v‘ff/"\;«l.“)//!.gl’.‘h)’ul -(ngk)gjﬁ')ﬁ](j:{ufcwr"JJ./.:/,IU;,?U -fﬂ/r‘jw»‘a!.r?a//lufa;;‘(,(L.‘é‘/_,/J_,ﬂ_L/{fu;?ln:k}c—v{!
Note: You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
Fill that bubble in front of that question number, on bubble sheet. Use marker or pen to fill the bubbles. Cutting or

filling two or more bubbles will result in zero mark in that question. No credit will be awarded in case Do not solve
questions on this sheet of OBJECTIVE PAPER. :

Q.No.1 . : -1/41; )
DTz 0] Tvz 0] o
B is called atrix. ce bl I s
G ——— A X
(A) Zero (p* (B) Unit (e (c) Scalar he {D) Singular xt
(2 Thevalueof i° is . ﬂ - =25 P Q)
(A) i (B) -—i O 1 D -1 - .
3 — _ \
) The value of log(ﬁ j is =edy log[ E] Q) %
q " ) . logp q L]
~ (A) logg-logp (B) logp - logg (C) logp +logg (D) fog g |
C)) (3+«/5)(3—x/3) is equal to: sl (3+«/§)(3—\[§)' 4) ",
(A) 1 B) -1 ©) -7 D 7 *agll ¥
&) Factors of 8x* + 27y7 are . - QAL 8x? + 27y (5) -
(A)  (2x +3y) (4x* - 63y + 932) (B) (2x +3y) (4x7+9y") | '
(C) (2x -3y) (4x* + 6xp + 9p?) (D) (2x -3y) (4x* - 9y*) , :
(6)  L.CM.of 15x%, 45xy and 30xyz is . ”y S1obsisk 30xyz 4 45xy (15x% (6) |
, (A) 90xyz (B) 90x”yz (C) 15xyz (D) 15x%yz .
@ x = 0 is a solution of the inequality : eSS L ahled x=0 . (7)
A) x>0 (B) 3x+5<0 (C) x-2<0 (D) x+2<0
(®) . If (x,0)=(0,y) then (x, y) is equal to: et (%, y ) In(x, 0) = (0, y) Ji (3) _
Bl (A (RN ®) (1,0) ©_ N (D) (0,0) A
(9) Mid point of the points (2, —2 )and (=2, 2 )is: . Sl sk (2, -2)m(=2,2) 58 (9) ,
‘ (A) (6, 0) B) (L 1) © (2,2) ‘ ) (~2~2) poiad
(10)  Avrayhas end point/points. ey Zews g (10) |7
(&) 3 ® 2 ©) 1 @ 0
(11)  Diagonal of a parallelogram divides the -{.L' /F:; AU 5 LS RSP ¢! 13
parallelogram into _ _ triangles. - ' S
[ @1 ®) 2 © 3 ™) 4 ~
(12)  The right bisectors of the sides of a triangle are i it Cn S adis” (12)
(A) Congrient = (B) Parallel i (¢) Equal (p) Concurrent A7 B
(13)  One and only one line can be drawn through points. *’ﬂ@?ﬂ" LIl Lie b a 32 A
(A) 2 , (B) 3 © 4 D) 5 . i,
(14)  Area of square = =3B, (18)
(A) Length x width (i x Ji ®) % (base x altitude) —12—(w0'x (,ubl') _
(¢) Side x side CJ,“’ x ¢ (D) Base x altitude s x {5 .
(15) " One angle on the base of an isosceles triangle is30°. ca 30% utikl e nlb Cedoigils (15)
g : .
What is the measure of its vertical angle? g.gf A gl
(A) 30° (B) 60° () 90° (D) 120°

2
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SSC PART-I (9" Class)
MATHEMATICS (SCIENCE GROUP) GROUP-II

“TIME ALLOWED: 2.10 Hours
MAXIMUM MARKS: 60

MTN-2-23

SUBJECTIVE ~¥1.»

NOTE: Write same question number and its

parts number on answer book, as given in the question paper.

Al

'/”""6"/ (vsfugk ) Py

210 = B
60 = AN

CJJuf;/.‘llrfigfbﬂ/i.ul/dlrduQlﬁ}‘?- < E “

. 8 N
4m + 55
| 4m+n 10
_A55°
E 8m—-4n M

Find the valueof m and n .

-J/ pedd

s

8m—4n

SECTION-I slo
2. Attempt any six parts. 12=2X6 W\TM Y l}c{/ ¥4C uu?[.l]lgc;.df ..2/Jlr
(i) | Define rectangular matrix. E S N O
i 1 2 . ; 2 (ii
W) If A=|:O 1],thenvcrifythat (4 =4 (A4Y = A4 EJ7 A=[(1) 1:|fl_ ( ) ‘
(iii) | Express each complex number in the standard SuSSert S a+ bif u;;l;f - '(iiij'
form a + bi, where a and b are real ey ' Nt SR
sinbem, {24 5+ 7 =20) (24 3)+(7=2i) -ursrw3 bus a
(IV) Slmphfy ‘25x10ny8m '25x10ny8m -',:‘,J":/:.! (1\/)
™) 1 Find the value of x loges 8 = -)-2C- loges 8 = —;— “Eredd x (v)» i
(vi) | Define Natural logarithm. i J}';‘J(i’ 90,5 | (Vi
(vii) | If a+b=10 and a - b =6, thenfind (a2+b2);!” a-—b=6ma+b=10/f (vii)
‘ the value of (a®+ b%) i
(viii)'| Simplify 21 x 47 x /3 V21 x 7 x A3 &4 | (VD)
(iX) | Factorize 25x+16 + 40x 25x2 +16 + 40x -gEA | (0 |,
3. Attempt any six parts. 12=2 X6 - e lin g $ 3 )iy |
(i) | Use factorization to find the square root 4x? —12xy + 9y? -8 el f 2k | ()
1 4x*=12xy + 9y* -
(ii) | Define linear equation and give an example. P I P (ii).
(i) | Solvefor x |3x-5|= 13 - 5| = 4 _pierfeant i)y
(iv) | Define coordinate axis. Ey S aaptf | V)
) Venfy whether the following point lies on By w—y+1=0 AL E Sy I W) |
the line2x — y +1="0 ornot. (-1, 1) T = g | oo
(—15 1) (‘uj’!: ; :
(vi) | Define equilateral triangle. C v Sl | (vi)
(vii) | Find the mid-point of the line segment joining B ‘i:r' b 50K e L s) 2 L6t itn (vii) |
each of the following pairs of points. T )
A(-4,9), B(=4,-3) A(4,9), B(-4-3)
(viii) | What is meant by H.S.= H.S. ? tessfe. H.S.= H.S. (viii)
(ix) | The given figure LMNP is a parallelogram. n s mIe s LMNP LTS (ix)

(’é’_l()'u )



}Attempt’ any six parts.

(2)
12 =2 X 6 W - 2-23E 47 ez ling e a

Define right bisector of a line segment.

I flat L |

Ts given lengths of the sides of a triangle?

= 3em, &em, Sem

3em, 4em, Sem Sutdeadsop sy | (D

What {s meant by ratio?

?c"__Jl/y/;__w,J

(iiD)

)| In Isoscéles /N POR shown in the figur,
1| find the valueof x and y.

10

-LC/r’h’cway X §.wu§ulu,u_g APQR (iv)

QCemvy 7

R

% bc'y . J '
| Describé Pythagoras theorem.

Sl et | V)

‘Find the »v'al"t‘lue of x.

S prd S x (vi)

N

3em

mAB =32cm, mBC = 4.2¢m, mCA =5.2cm

mAB = 3.20m,rmB—C =42cm, mCA = 5.2¢cm

),g.' "Deﬁx?f-Tnangular region. S 8.6 | (viD)
‘onstruct £\ ABC in which S et ABC wlts | (Vill)

Defin€ incentre of the triangle.

S P poa et | (%)

24=8X3

SECTION-II

Cu -

(!JU 9/d'f-‘£/_fwt’f£um}’wbél(— v..a)'

NOTE Attempt any three questions. Question No.9 is compulsory.

"havmg the same (or equal) alutude are equal in

"t s

5.(A) Use matrices, if possible, to solve the S Sy st x el uss Lo 22 | (-5
.1 44 f@llowing systems of linear equations by the .
d[.Cramer’srule. 2x — 2y =4, 3x+2y=6 2x-2y=4,3x+2y=6 g/ S=nudui
b 1216)%x (25)% 216)% x (25)% ’
:Sxmphfy LE10) _ﬁ/ ) Ll “/E/ ) Ny ()
Lo (0472 (.04) 72 i
_ : . 0.678 x 9.01 " 0.678 % 9.01 - 3 3
' Use log tables to find value of ———— e A 91 O UL () P O (-6
wili s | 0.0234 oaass e sddals j
If p=2++3 findvalueof p?- —12- : S ed p? - —12—7np =2+341| &
ad ) i p i
) | Fpctorize " (x* ~ 4x) (x2 = 4x — 1) - 20 (x*—4x) (x* = dx 1) - 20 (7 | ()7
-Use division method to find the square root e iz B k|
ol A R & e g ¢ 2k .
o L LG b 4%+ 12xp + 9)% + 16%.+ 24y + 16
.7 | Solve the inequality.  ~ 5 3,4 ot Y 52 LSS g | (-8
s o~ 7 5 2 2
(B) _Construct triangle 4BC:, draw the o o L E i i ABC 2| ()
“perpendicular bisectors of its sides. mBC =2.9cm, msA =30°, mLB = 60°
v I“mBC =2.9cm, m4A =30°, m/B = 60° _ _
9: Prove}hat “A""Y}-POi“t »inSide an angle, c‘_—ui;)l,d:dl,b.'ﬁugl(jfuf LJ/I‘L&—JUJK' St =9
| s ['equidistant from-its arms, is on the bisector ) . o
= | of it.”".. . Selb st Bls gt g sl ke st koSl |
W T ) ‘ i OR |
; Prove that “Parallclograms on equal bases and LA I A A B YIRS,
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